












































































































Use the quadratic formula to solve

1 35 7 5 0 2 2 2 9 5 0

Complete the square and identify coordinates
of minimum point

3 I 7 6 4 22 6 5

Solve by factorising

5 22 3 10 0 6 It 11 24 0

7 22 9 5 0 8 3
2
14 8 0

Factorise

9 16
2
9 10 252 4g

Complete in small homework books

and hand in on Wed 16 Feb

10CMR Homework Mon 14 Feb Solutions

























































D 3.5 7 5 0 2 2 2 9 5 0

x 71 732 463765 2C 91192 4 2 s

263 262

x 711109 x 9111
6 4

2 2.91 2 0.57 2 0.65 2 3.85

3 I 7 6 4 22 6 5

x 25 6 4,1 21 5 3 1

x z 24
2 att E E

Man point Z 24 2 2 27 5 E
2 xt t t

Min point 2,2

5 I 3 10 0 6 25 11 24 0

x 2 x 51 0 x 3 2 8 0

Quadratic Homework Solutions



x Z or 2 5 2 3 or 2 8

7 22 9 5 0 8 3
2
14 8 0

3 8 24

II 225 2 10 5 0 z 12

2x c 5 2 1 0 3 2 2x 122 8 0

x 5 2 1 0 x 3 2 4 3 27 0

x 5 or x z x a 3 2 0

2 4 or x 3

9 16
2
9 10 252 4g

4 5 5 5 5 129

ax 3 4 3 5 29 5 29
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